
22 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

 8.1.1 Main Assembly ................................................................................................................................................... 23 
 8.1.2 Gas Assembly .................................................................................................................................................... 24 

 8.2.1 Main Assembly ................................................................................................................................................... 27 
 8.2.2 Gas Assembly .................................................................................................................................................... 28 

 8.3.1 Main Assembly ................................................................................................................................................... 30 
 8.3.2 Gas Assembly .................................................................................................................................................... 31 
 

sp
are

s.b
lue

-se
al.

co
.uk



23 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Control Panel 
Control Panel 

Chargrill Front Frame 

From July 2015 Up to July 2015 

Chargrill Front Frame 

Item 10, Viewed from underside of Control Panel 

sp
are

s.b
lue

-se
al.

co
.uk



24 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Item Part No. Description 
1 227001 BBQ TOP GRATE 
2 014508 CASTING BURNER RADIENT 
3 229577 SPLASHBACK WA  
4 227960 BLUE SEAL BADGE 
5 229569 BURNER SUPPORT 
6 229555 GRATE SUPPORT 
7 227286 BURNER 
8 229679 SIDE HEAT SHIELD 
9 229550 INNER RADIATION PANEL 

10 
229578 NOSE RAIL WA   (Up to July 2015) 
238927 NOSE RAIL WA   (From July 2015) 
229579 CONTROL PANEL   (Up to July 2015) 

11 
238932 CONTROL PANEL   (From July 2015) 

12 229580 FRONT TRIM 
13 227508 PIEZO - SIT  (includes Piezo Nut) 
14 228010 PIEZO HOUSING 

Not Shown 228223 PIEZO CLAMP 
15 229531 DRIP TRAY 
16 013908 SPACER FOOT ASSY 
17 229541 FRAME WA 
18 227189 TUBE STOPPER 
19 228173 SPLASHBACK ENDS 

sp
are

s.b
lue

-se
al.

co
.uk



25 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

sp
are

s.b
lue

-se
al.

co
.uk



26 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Item Part No Description 
7 227286 BURNER 
13 227508 PIEZO - SIT 
20 229563 SUPPLY PIPE 
Not 

Shown 241887 TEST POINT SCREW 

21 229718 BURNER SHIELD 
Not 

Shown 232543 FLUE PARTITION 

22 019428 THERMOCOUPLE 320mm M9 x 1 

23 
227404 GAS VALVE 21S 
018790 VALVE MAGNET 21S 

24 231540 SPARK ELECTRODE 

25 

229719 PILOT ASSY 3 WAY 0.35mm 
227985 PILOT INJECTOR 0.35mm (NAT GAS) 
227984 PILOT INJECTOR 0.25mm (LPG / PROPANE / BUTANE) 
232309 PILOT INJECTOR 0.60mm (TOWNS GAS) 

26 229731 HT LEAD 250mm RING TERMINAL 

27 
229566 PILOT TUBE 
017805 NUT 1/4" 
017806 OLIVE 1/4" 

28 227378 KNOB BSEAL 8mm GAS PF 

29 

022686 6" FLEXITUBE 
227559 OLIVE 3/8" 
227560 NUT 3/8" 
015152 OLIVE 3/8" 
015153 NUT 3/8"  

30 227375 INJECTOR MOUNTING BUSH 
037270 INJECTOR 2.70mm (NAT GAS) 

31 
037165 INJECTOR 1.65mm (LPG / PROPANE) 
037155 INJECTOR 1.55mm (BUTANE) 
037450 INJECTOR 4.50mm (TOWNS GAS) 
025093 LOCKNUT 

 228531 REGULATOR (Natural Gas / LPG Gas [Propane-Convertible]) 3/4”BSP F/F, sp
are

s.b
lue

-se
al.

co
.uk



27 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

21 

Control Panel Control Panel 

Chargrill Front Frame 

From July 2015 Up to July 2015 

Chargrill Front Frame 

Item 21, Viewed from underside of Control Panel 

sp
are

s.b
lue

-se
al.

co
.uk



28 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Item Part No Description 
1 227001 TOP GRATE 
2 014508 BURNER RADIENT 
3 237107 BURNER 
4 236657 BURNER SUPPORT 
5 236649 GRATE SUPPORT 
6 227618 WALDORF BADGE 
7 236985 SPLASHBACK 
8 227189 TUBE STOPPER 
9 236648 FRAME 
10 228440 SIDE HEAT SHEILD 
11 236652 INNER RADIATION PANEL 

12 
236984 CONTROL PANEL   (Up to July 2015) 
238933 CONTROL PANEL   (From July 2015) 

13 231728 FRONT TRIM 
14 228010 PIEZO HOUSING 
15 227508 PIEZO SIT  (includes Piezo Nut) 

Not Shown 228223 PIEZO CLAMP 
16 236655 CRUMB TRAY 
17 230167 SILL 
18 227851 LEG 
19 229674 REAR ROLLER 
20 227854 LEG EXTENSION 

236982 NOSE RAIL WA   (Up to July 2015) 
21 

238928 NOSE RAIL WA   (From July 2015) 

27 227855 LEG 80mm (for Bench Mount - Not 
Illustrated) 

sp
are

s.b
lue

-se
al.

co
.uk



29 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Item Part No. Description 
21 227182 SUPPLY PIPE 
Not 

Shown 241887 TEST POINT SCREW 
22 016044 CONICAL UNION 
23 227248 MANIFOLD 
24 019218 THERMOCOUPLE 

25 
019464 PILOT BURNER 
018971 PILOT INJECTOR 0.3mm LGP 
018972 PILOT INJECTOR 0.45mm NAT 

26 230319 FLEXTUBE 
27 227404 GAS VALVE 
28 227378 KNOB BSEAL 8mm GAS PF 
29 022686 FLEXTUBE 

30 
037180 INJECTOR 1.8mm BUTANE 
037190 INJECTOR 1.9mm LPG 
037350 INJECTOR 3.5mm NAT 

sp
are

s.b
lue

-se
al.

co
.uk



30 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

Bench Mount Option 

24

sp
are

s.b
lue

-se
al.

co
.uk



31 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

1) Up to Ser. No. 441776  (Not interchangeable). 
2) From Ser. No. 441777 (Not interchangeable). 

ITEM DESCRIPTION 
PART No. 

G594 G596 G598 
1 BBQ TOP GRATE 227001 

1a 
GRIDDLE PLATE BBQ (300mm) 227002 (OPTIONAL ACCESSORY) 
GRIDDLE PLATE BBQ (450mm) 227003 (OPTIONAL ACCESSORY) 

1b 
GRIDDLE WA (300mm) 230707 (OPTIONAL ACCESSORY) 
GRIDDLE WA (450mm) 230710 (OPTIONAL ACCESSORY) 

2 CASTING BURNER RADIANT 14508 
3 SPLASHBACK BSEAL 228923 228924 228925 
4 BLUESEAL BADGE 227960 
5 GRATE SUPPORT 227263 227188 227264 

6 BURNER SUPPORT 
227445¹ 

233709 
233729² 

7 BURNER 227286 
8 SIDE HEAT SHIELD BBQ 228440 

9 INNER RADIATION PANEL RH 
--- 227200¹ 227273¹ 

 233688² 233691² 

10 
INNER RADIATION PANEL LH 

 227199¹ 227272¹ 
 233687² 233690² 

INNER RADIATION PANEL 227271 --- --- 

11 
NOSE RAIL WA   (Up to July 2015) 228655 228658 228659 
NOSE RAIL WA   (From July 2015) 238929 238930 238931 
CONTROL PANEL   (Up to July 2015) 227544 227543 227542 

12 
CONTROL PANEL   (From July 2015) 238934 238935 238938 

13 FRONT TRIM WLDF 227584 227580 227581 
14 PIEZO HOUSING 228010 
15 PIEZO IGNITOR  (includes Piezo Nut) 227508 

Not Shown PIEZO CLAMP 228223 
16 CRUMB TRAY BBQ 228488 228487 228489 
17 SILL WA BSEAL 227075 227901 227902 
18 LEG 150mm (EXTEND. STUD) 227851 
19 REAR ROLLER ASSY 229674 
20 SCREW 5/8" x 1 HEX SET ZP 748010 
21 LEG RING PLATE PLAIN (LS) 229673 
22 BASE TRAY 227408 227407 227409 
23 LEG EXTENSION 430mm 227854 

24 FRAME WA CHARGRILL 227667 
227671¹ 227669¹ 
233748² 233749² 

24a TUBE MOUNT (WELDED TO ITEM 24) 227191 
25 TUBE STOPPER 227189 
26 SPLASHBACK ENDS 228173 
27 LEG 80mm (FOR BENCH MOUNT) 227855 

sp
are

s.b
lue

-se
al.

co
.uk



32 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

sp
are

s.b
lue

-se
al.

co
.uk



33 

8 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

ITEM DESCRIPTION 
PART No. 

G594 G596 G598 
7 BURNER 227286 
28 SUPPLY PIPE WA BBQ 227182 
Not 

Shown TEST POINT SCREW 241887 

29 UNION BRASS CONICAL 1/2" BSPT 016044 

30 MANIFOLD 227248 227187 227249 

PILOT BURNER KIT - BBQ 019464K 
31 

PILOT SHIELD (NOT ILLUSTRATED) 234572 

32 
PILOT INJECTOR - NAT 0.45mm 
PILOT INJECTOR - LPG / PROPANE / BUTANE 0.30mm 
PILOT INJECTOR - TOWNS 0.75mm 

018972 
018971 
026393 

33 THERMOCOUPLE 450mm 019218 

34 

FLEX TUBE 12" x 1/4"OD S/S 230319 

PILOT NUT  1/4" 017805 

PILOT OLIVE  1/4" 017806 

35 KNOB BSEAL 8mm GAS PF 227378 

36 

6" FLEXTUBE 022686 

OLIVE 3/8" 227559 

NUT 3/8" 227560 

37 

INJECTOR 2.70mm (NAT GAS) 
INJECTOR 1.65mm (LPG/PROPANE) 
INJECTOR 1.55mm (BUTANE) 
INJECTOR 4.50mm (TOWNS) 

037270 
037165 
037155 
037450 

INJECTOR CONNECTOR ASSY 227375 

OLIVE NUT 3/8" 015152 

OLIVE 3/8" 015153 

LOCKNUT 025093 

38 
GAS VALVE 21S 227404 

VALVE MAGNET 21S 018790 

39\ 

ELECTRODE 019624 

HT LEAD 250mm 228047 

HT LEAD 250mm RING TERMINAL (from Serial # 472383) 229731 

 REGULATOR (NAT GAS / LPG / PROPANE CONVERTABLE 3/4" BSP 228531 

 REGULATOR (TOWN GAS) 3/4" BSP F/F ADJUSTABLE 230185 

sp
are

s.b
lue

-se
al.

co
.uk



21 

7 

Blue Seal Evolution Series G590 Gas Chargrills ©  Copyright Moffat Ltd.  24 October 2019 
Amendment 16 

 

230707 300mm Steel Griddle Plate (with sides). 
230710 450mm Steel Griddle Plate (with sides). 
230713 600mm Steel Griddle Plate (with sides). 
 
227002 300mm Cast Iron Plate. 
227003 450mm Cast Iron Plate. 
 
233965 150mm Straight Grate. 

AU,NZ,XP MODELS ONLY 

MODEL TYPE CONVERT TO CONVERSION KIT 

G592  CHARGRILL 
LPG 231946 
NAT 231947 
BUTANE 231948 
TOWNS 231949 

G593  CHARGRILL 
LPG 237003 
NAT 237004 
BUTANE 237005 
TOWNS 237006 
LPG 231950 

G594  CHARGRILL NAT 231951 
BUTANE 231952 
TOWNS 231953 

G596  CHARGRILL 
LPG 231954 
NAT 231955 
BUTANE 231956 
TOWNS 231957 

G598  CHARGRILL 
LPG 231958 
NAT 231959 
BUTANE 231960 
TOWNS 231961 

MODEL TYPE CONVERT TO CONVERSION KIT 

G592  CHARGRILL 
LPG/Propane (G31) 231946 
NAT (G20) 231947 
LPG/Propane (G31) 237007 G593  CHARGRILL 
NAT (G20) 237008 

G594  CHARGRILL LPG/Propane (G31) 231950 
NAT (G20) 231951 

G596  CHARGRILL LPG/Propane (G31) 231954 
NAT (G20) 231955 

G598  CHARGRILL LPG/Propane (G31) 231958 
NAT (G20) 231959 

UK UNITS ONLY 

228579 
Chargrill 
 To Cooktop Open Burners. 
 To Cooktop Griddle. 
 To Cooktop Electric. 
 To Cooktop Electric Griddle. 

 

JOINING CAPS 

228893 
Chargrill 
 To Chargrill. 
 To Griddle. 
 To Griddle Toaster. 

 

228595 
Chargrill 
 To Target Top. 

 

sp
are

s.b
lue

-se
al.

co
.uk




